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Exercise

1. The set  is equal to:

A. 

B. 

C. 

D. none of these

Answer:

W t h Vid S l ti

(A ∩ B' )' ∪ (B ∩ C)

A' ∩ B

A' ∩ C'

A' ∩ B

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6GUucuU9BIY7


Watch Video Solution

2. Domain of  (a>0) is:

A. (-a,a)

B. [-a,a]

C. [0,a]

D. (-a,0]

Answer:

Watch Video Solution

√a2 − x2

3.  is equal to:

A. 

B. 

C. 

sin 36∘ sin 72∘ sin 108∘ sin 144∘

1

16

3

16

5

16

https://dl.doubtnut.com/l/_6GUucuU9BIY7
https://dl.doubtnut.com/l/_dgf4hpLP4NRb
https://dl.doubtnut.com/l/_vVrvp0ZDE48n


D. none of these

Answer:

Watch Video Solution

4. The value of  is:

A. 4i

B. 4

C. 

D. none of these

Answer:

Watch Video Solution

(1 + i)3 − (1 − i)3

−4 − 2i

https://dl.doubtnut.com/l/_vVrvp0ZDE48n
https://dl.doubtnut.com/l/_zKie5llyPc7v


5. Total number of four digit odd numbers that can be formed by using

0,1,2,3,5,7 is:

A. 180

B. 240

C. 720

D. none of these

Answer:

Watch Video Solution

6. If 1+2+3+……………+n=45, then  is:

A. 

B. 

C. 

D. none of these

13 + 23 + 33 + ………… + n3

452

453

454

https://dl.doubtnut.com/l/_7RdpwPqoOSLj
https://dl.doubtnut.com/l/_4ZqyKD3sd3j9


Answer:

Watch Video Solution

7. If p be the length of the perpendicular from the origin on the line

, then

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

+ = 1
x

a

y

b

p2 = a2 + b2

p2 = +
1

a2

1

b2

= +
1

p2

1

a2

1

b2

8. If the circles  and  touch each other,

then c is equal to:

x2 + y2 = 9 x2 + y2 + 8y + c = 0

https://dl.doubtnut.com/l/_4ZqyKD3sd3j9
https://dl.doubtnut.com/l/_BsYKN4xjaNpB
https://dl.doubtnut.com/l/_Ev33BtpkCgFf


A. -15

B. 15

C. 16

D. none of these

Answer:

Watch Video Solution

9. If , then f'(1) is equal to?

Watch Video Solution

f(x) =
x − 4

2√3

10. If A and B are two events, the probability that exactly one of them

occurs is given by

A. P(A)+P(B)

B. P (A) + P (B) − P (A ∩ B)

https://dl.doubtnut.com/l/_Ev33BtpkCgFf
https://dl.doubtnut.com/l/_7TueIe0E3jJF
https://dl.doubtnut.com/l/_HAP69YEnxqUl


C. 

D. none of these

Answer:

Watch Video Solution

P (A) + P (B) − 2P (A ∩ B)

11. Prove that: .

Watch Video Solution

cos 20∘ + cos 100∘ + cos 140∘ = 0

12. If , then k is equal to

Watch Video Solution

tan 3A =
3 tanA + k tan3 A

1 − 3 tan2 A

13. Evaluate: .

Watch Video Solution

[i20 + ( )
26

]

3
1

i

https://dl.doubtnut.com/l/_HAP69YEnxqUl
https://dl.doubtnut.com/l/_VjyLLflk5T29
https://dl.doubtnut.com/l/_PO2HPA0dkPod
https://dl.doubtnut.com/l/_FvNVQ62hdfrU


14. Using Binomial theorem prove that:

Watch Video Solution

(1.1)10000 > 10000

15. Write the general term in the expansion of 

Watch Video Solution

(x2 − yx)
12

, x ≠ 0

16. Let (4, 2), B (6, 5) and C (1, 4) be the vertices of . :- The median

from A meets BC at D. Find the coordinates of the point D.

Watch Video Solution

△ ABC

17. Verify by the method of contradiction that  is irrational.

Watch Video Solution

√7

https://dl.doubtnut.com/l/_FvNVQ62hdfrU
https://dl.doubtnut.com/l/_RPIKMNIm5fmX
https://dl.doubtnut.com/l/_KJskotDhErQU
https://dl.doubtnut.com/l/_0INlyvpGyJ5h
https://dl.doubtnut.com/l/_3Y4M0xH1wBqQ
https://dl.doubtnut.com/l/_a88Vmgyq5JXl


18. Find the component statement of the following and check whether

they are true or not.

A square is a quadrilateral and its four sides are equal.

Watch Video Solution

19. Assume that P(A) = P(B). Show that A = B

Watch Video Solution

20. If . Find A and B

Watch Video Solution

A × B = {(a, x), (a, y), (b, x), (b, y)}

21. Prove that : 

.

Watch Video Solution

sin(A + B)sin(A − B) = sin2 A − sin2 B

https://dl.doubtnut.com/l/_a88Vmgyq5JXl
https://dl.doubtnut.com/l/_Fq1P67f71sWd
https://dl.doubtnut.com/l/_o5N5fGQefxwJ
https://dl.doubtnut.com/l/_FDV76dh0E7hi


22. Using principle of mathematical induction, prove that:

for all .

Watch Video Solution

.3 + .4 + .5 + …………. + = (n
1

1.2

1

2.3

1

3.4

1

n(n + 1)(n + 2)

n +

4(n + 1

n ∈ N

23. Determine the number of ways of choosing 5 cards out of a deck of 52

cards which include at least one king.

Watch Video Solution

24. A question paper has two parts: Part A and Part B. each part

containing ten questions. If the student has to choose 8 questions form

part A and 5 questions from part B. In how many ways can he choose the

questions?

Watch Video Solution

https://dl.doubtnut.com/l/_0h6NBZO3eRRM
https://dl.doubtnut.com/l/_EEDWv5KJvJMy
https://dl.doubtnut.com/l/_UXRbtvdrIkLG
https://dl.doubtnut.com/l/_MGwxKVZAZFzd


25. A.M. between two numbers is 10 and their G.M is 8. Find the numbers.

Watch Video Solution

26. The sum of first four terms of an A.P is 56. the sum of last four terms is

112. If the first term is 11. find the number of terms.

Watch Video Solution

27. If p is the length of perpendicular from the origin to the line whose

intercepts on the axes are a and b, then show that .

Watch Video Solution

= +
1

p2

1

a2

1

b2

28. Find the equation of ellipse with major axis along x-axis passes

through the points (4,3) and (-1,4).

Watch Video Solution

https://dl.doubtnut.com/l/_MGwxKVZAZFzd
https://dl.doubtnut.com/l/_wqGRVElErqc6
https://dl.doubtnut.com/l/_cf9iRQpOld3t
https://dl.doubtnut.com/l/_9uL4kr5aDhqV


29. Evaluate:

Watch Video Solution

lim
x→ 0

3 sinx − sin 3x

x3

30. Find the derivative of the funciton  at x=-1. also

prove that .

Watch Video Solution

f(x) = 2x2 + 3x − 5

f' (0) + 3f' ( − 1) = 0

31. State wheter is trure or false : If E and F are mutually exclusive events

then P 

Watch Video Solution

P (E ∪ F ) = P (E) + P (F )

32. If z=x+iy and |z+6|=|2z+3|. Then show that .

Watch Video Solution

x2 + y2 = 9

https://dl.doubtnut.com/l/_IelbKcyLrYPJ
https://dl.doubtnut.com/l/_6EDA9COpAWga
https://dl.doubtnut.com/l/_cHetOVC9d95o
https://dl.doubtnut.com/l/_PLG0n8GU00JZ


33. If z= x + iy, x, y real, prove that :
 .

Watch Video Solution

|x| + |y| ≤ √2|z|

34. Solve the inequalities given below for real x :-

Watch Video Solution

( + 4) ≥ (x − 6)
1

2

3x

5

1

3

35. To receive Grade ‘A’ in a course, one must obtain an average of 90

marks or more in five examinations (each of 100 marks). If Sunita’s marks

in first four examinations are 87, 92, 94 and 95, find minimum marks that

Sunita must obtain in fifth examination to get grade ‘A’ in the course.

Watch Video Solution

https://dl.doubtnut.com/l/_PLG0n8GU00JZ
https://dl.doubtnut.com/l/_WuiTmB7RuB8Q
https://dl.doubtnut.com/l/_jAdo8ZQAbmpt
https://dl.doubtnut.com/l/_1rvLdNPqvcLx


36. Evaluate: .

Watch Video Solution

lim
x→ a

(x + 2) − (a + 2)
3
2

3
2

x − a

37. If , then show that +y = 2√
x

Watch Video Solution

y = √x +
1

√x
2x

dy

dx

38. Find the mean deviation from median of the data:

Watch Video Solution

https://dl.doubtnut.com/l/_iGoaXWRnp2pv
https://dl.doubtnut.com/l/_eFmtSMq6ST7c
https://dl.doubtnut.com/l/_qCuLqDnKkj7j


39. Find the mean deviation from the mean for the following data:

Watch Video Solution

https://dl.doubtnut.com/l/_O1p5YY4RLI4V

